ER-IRB/AREE-FR AH6E5 23R HE
N EEREE REXIRE
BT HX RIRAT
BEAKT |~ RESEBE RORAT
TR S EELHIE_|mam
- BKE) |ZEmElRREE [6
(IHKD) |TEmEEREE (127
FETmEEREE |RBRE-62 TEIRE-146, ERIE=77
ok EE = -
BEMNIATR | KmkRE N SRIXIE EFi8)
=5 =
FE E 5 EE 20m/s
RRE EHRZ 20m/s BEES
- =y i 1205 % E D ZES 10cm
= REOZ L 126 I E ) e 200m
BE e
=5 B iz _
- REMERBEE |9
TEREEREE |87
FETMEEREE |RRRE=49 TEIRE=-116 ERII7E=6 1
— HaEE™ RERIRE=(5, 4.9), &M=, 5.2), BIIFRE=(7, 132)
- £ 134k P 4R
f‘g;fgggﬁ_ 7 KEVIARE N [ BIKAE EF48)
58 i, E 5 EE 12m/s
AE FHEE 12m/s BERES
= g ity 1285 R E O S 50m
= REOR i 1285 % = & 10cm
BE e
EER =5 B
z REE L LUBREA TR GBS
BE
1] g [100m
BrI% BI/INTE40% CTEMZE60%
- QEEDREE0cmLl EHYBERBI10°CLL EF - I Y DR 2
Ex BEZE5CHT
3 Wi E BIE S B4 CLlT
K
aa 28BS E DES : E#h20cml £ [Lh40ecmLl £
== £38:-2°C~2°C
e PN TBRE T100mm

NEREREEY RERESIER OHEAFSHhEICLSREEERLTILET.

*? SERARERSREDIHE,



